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Note : This paper is of eighty (80) marks containing three
(03) Sections A, B and C. Learners are required to
attempt the questions contained in these Sections
according to the detailed instructions given therein.
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Section-A / GUls—d

(Long Answer Type Questions) / (€78 IT<1I T2

Note : Section ‘A’ contains four (04) long answer type
questions of nineteen (19) marks each. Learners are
required to answer two (02) questions only.
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e @rs ‘P W AR (04) <Y S WA il TR

1.

TG Y b fow S~ (19) 3w fuiRd )

el @1 g W ®ad a7 (02) WA B SR o

gl
A Ltd. Company issued 3000 shares of ¥ 10 each at a
premium of 10%. On these shares payments are to be
made as follows : ¥ 2 on application, ¥ 2 on allotment
and ¥ 7 (including premium) on first and final call.
Bankey, who is holder of 800 shares has not paid the
first and final call, hence his shares have been forfeited

and have been reissued at ¥ 9 per share. Pass necessary
journal entries in the books of the company.

A fafics w9 2 10 dTel 3000 37 10% WFHTH
R fHifd f6v ) 39 R 2 2 3Mded W, T 2 3M6ed W
3R T 7 (MW Afed) YoM Ud i<W Irar W <3
g1 9d, f9d I 800 3% ®, 7 UUH 4 df<w
Rl B YA TE BT €1 37 I I BT &Y
R for AT 7 g% T 9 U oY W ARG
T B | B B GRID H AARAD o yfaftedt
BT |

X Ltd. issued 5000, 9% Debentures of ¥ 100 each.

Give Journal entries for issue of debentures in the
following cases :

(i) If the debentures are issued at par and are
repayable at par.

(if) If the debentures are issued at a premium of 10%
and are repayable at par.
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(iii) If the debentures are issued at a discount of 5%
and are repayable at par.

(iv) If the debentures are issued at par and are
repayable at a premium of 10%.

(v) If the debentures are issused at a discount of 5%
and are repayable at a premium of 10%.

(vi) If the debentures are issued at a premium of 5%
and are redeemable at a premium of 5%.

X fofcs 3 A% T 100 9Tl 5000, 9% FEUIH

frtfaa fog | FefoRad cemell  omal & i &

forg s wfaftedt HIRv -

() I FoA B T W MG BT S SR
T W A 2

(i) IS FOTAT BT 10% NFRH W T fdar Sy
AR T W I 2

(iii) I FogA BT 5% dg W g fear oMy e
A W YR B |

(iv) IS FoOF G W FHHT fdg I sk 10%
@ N R MR 8

(v) I FOOF 5% B Ferl R ARG fEu S
AR 10% & AT R AR &

(vi) T T 5% Wi W T fa S el
5% NATH W IMEFR & |
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What do you understand by Financial Statement ?
Discuss its nature, objects and limitations.

fofrar faRor & 30 @ Her § 0 gl i, Jed
Td AT Bl garsy |
What do you mean by Government Accounting ?

Describe the duties of Comptroller and Auditor
General of India.

WHN oG ¥ AT R GHed & ¢ URd B
=% T4 ATl WeTd & ] &I quid BIford |

Section-B / Yls—g

(Short Answer Type Questions) / (FF{J; SN 79)

Note : Section ‘B’ contains eight (08) short answer type

qre :

questions of eight (08) marks each. Learners are
required to answer four (04) questions only.

Qe ‘@ # s (08) oY ST W ¥ W E
TAG Y b foU oMo (08) ofw fuiRa
Tl B 37H | dad IR (04) U B IR QA
gl

Determine the maximum remuneration available to the
part-time directors and manager of Pooja Ltd., under

Section 197 of the Companies Act, 2013 from the
following particulars :

Before charging any such remuneration, the Statement
of Profit & Loss showed a credit balance of

(A-27)
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¥ 23,10,000 for the year ended 31st March, 2014 after
taking into account the follwing items :

%

Q) Capital expenditure 5,25,000
(i) Special depreciation 70,000
(iii)  Subsidy from Government 4,20,000
(iv)  Multiple shift allowance 1,05,000
(v)  Bonus to foreign technicians 3,15,000
(vi)  Provision for taxation 28,00,000
(vii) Compensation paid to injured

workman 70,000
(viii) Ex-gratia payment to an employee 35,000
(ix)  Loss on sale of fixed assets 70,000
(x)  Profit on sale of Investment 2,10,000

Company is providing depeciation as per Section 123
of the Companies Act, 2013.

fy=foRed faon & o= afdfm, 2013 @ oRT
197 & I Yol foIffics & Ued U9 Rl
' Bl feU M a1t e aiRsife @1 feiRor
DIFTT

fy=ferRad #et @ @Al # o & 918 31 A1, 2014 B
A B dlel A & oy U dig RS Aol HRe
| Q4 AM-gI fIaR0T 2 23,10,000 &I HST I G
2
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3
(i)  Yoird @y 5,25,000
(i) foow g™ 70,000
(i)  WPR A TR 4,20,000
(iv)  9g-uRl ¥ 1,05,000
(v)  focelt qee IR Bl arfdemTer 3,15,000
(Vi)  FRRUY $ foIU grge™ 28,00,000
(Vi) TR BHART BT AR @ YTaE 70,000
(vii)) TH BHART FI Wied Y 35,000
(ix) el 99fd & fama w® g1l 70,000
x)  fafEmr & fama ) o 2,10,000

HHEI, g D FARAT B! ARFRA, 2013 DI &R
123 & AR &N T T |

Discuss any three Accounting Concepts.

foreg] T oldidh SAETRURNT B SIREIT DI |
Distinguish between a debenture and share.

FUTH T AT H IR WK P |

Give vertical pro forma of Balance Sheet of a
company.

UG Bl & g BT HEER /ddwy WA Sy /

91T |
Explain the meaning and objectives of amalgamation.

THIHRUT BT MM T4 329 130 |

Explain the ‘Slip System of Bank Book-keeping’.
‘de GE-@IT B Tl YOTCll’ Dl FHIEY |
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How is value of stock found out, when fire occurs ?
3T M W BT &7 Ho S T o & ?

What is Environment Accounting ? Explain its
objectives and importance.

TRV GG R 8 ? 39 Seed T4 78d Dl
faramT P |
Section—C / YUs—TT

(Objective Type Questions) / (@S T)

Note : Section ‘C’ contains ten (10) objective type

e

questions of one (01) mark each. All the questions
of this Section are compulsory.

gus T ¥ g9 (10) TRS WA [ W 2| IS
T & forg e (01) 3 fuiRa 21 39 wWve @
Y oo afard € |

Indicate whether the following statements are True or False :

3 oifse 6 FfaRed $om 9 € 91 3Ty
1. The cost concept applies only to the assets and not to
the liabilities. (True/False)
AN SR Sael ARl W ar] @il 8, 3wl
W el | (AT / 31
2. Accounting Standard-14 explains Accounting for
Amalgamations. (True/False)
oI AFH-14 VDGRV GG DI AR IR ¢ |
(7 / 1)
3. The preparation of Financial Statement is an end aim.
(True/False)
focfia faavor SO a1 Sf<w @6 e |
GRVAHR)
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Share which are issued to shareholders for no payment
are called Right share. (True/False)
49T A & SiRrnial &1 FEifT o, iR a7
P & ? (ag / 3ric)
A company cannot redeem its preference shares.
(True/False)
g (5 / )
A company cannot buy its own debentures.
(True/False)
HHA! U T D FUAA BT B el B qhdl |
GRVAKR)
Primary Expenses are shown in the Balance Sheet
under the head ‘Investment’. (True/False)
RS g g | CfafErr e @ sl g
T 2| (FT / 3rerc)
Pooling of Interest method is used in case of

amalgamation in the nature of merger. (True/False)

fedl & TR @ Y &1 W faem @ el |

THIG R fhar S 2 | (T / 1)
9. Deposits in bank’s Balance Sheet are shown in the
asset side. (True/False)
% o fug # Fedl o awfml @ AR feEmn S
2| (§a / 3rc)
10. Legal fees in respect to claims is shown in Profit &
Loss Account. (True/False)
TM W FERT P @ M-S @[ H S
T 2 | SRV
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